Binary classification:

In a binary classification task, our goal is to find a model that classifies objects as 1 or 0. Using logistic
regression, we can get the following model.
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The set of all hypotheses that an algorithm can learn is known as its hypothesis space. Each of these
models is called a hypothesis.

Regression:

Linear Regression assumes that the continuous outcome is a linear combination of the features. So,
if X1,X2,...,Xn are the features, the hypotheses are of the form.
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https://www.baeldung.com/cs/linear-vs-logistic-regression

